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Algebra 2

13.1 Practice
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Sketch the graph of each function.
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2)  f (x) = 3 × 2
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3)  f (x) = -5 × 2
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4)  f (x) = 2 × 2
x + 1

 + 1

x

y

-8 -6 -4 -2 2 4 6

2

4

6

8

10

12

14

16

18

20



©w e2B0g1D6H _Kbuktsay ISlotfDtKwgawrfeH MLRLhCC.^ t MAklqlb crgitgQhatQsM `rEeps[eeravxewdx.n t VMDandIea qwbiJtsho GIYnnfGixnciotOeb JA[lBgQeLbUrlaH j2H.

Worksheet by Kuta Software LLC

-2-

5)  f (x) = 4 × 2
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6)  f (x) = -4 × 2
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Write an equation for each graph.
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Answers to 13.1 Practice (ID: 1)
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7)  f (x) = -4 × 2
x + 2

 + 1 8)  f (x) = 3 × 2
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 - 2 9)  f (x) = -3 × 2
x - 1

 - 1 10)  f (x) = 4 × 2
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